Class XII Chapter 7 - Integrals

Maths

Exercise 7.7

Question 1:

Va—x*

Answer

Let [ = ['4'4 x dx = JJ —(x) dx
It is known that, j\m:—x:d =E a—-x a—_;sin X ic

i o
X - 4, | x
=284 —x +=sin"' =+C
2 2 2
=X Ja—x* r2sin' X4c
2 2
Question 2:
1—4x’
Answer

Let 1= [J1-4x*dx = N (1) —(2x)"dx

Let2x =1 = 2dx=

=—j1,|| ~(¢) d

It is known that, _llu.'.:.rj —xtdx :%q‘af —xt +”2_"5in-l e
a
::»f:%[%«.."l—r! +%5in '-‘i|+C

i “

¢ - 1.
=" l—r+zs1n 't+C

2: 1 —4x® +!I'5|n '2x+C
=§«.."I—4x2 +%nin"2x+c
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Question 3:

Jxt+dx+6

Answer

Let [= J‘\Jf +4x+6 dr
= jm dx
- IJ(1-2+4x+4}+2 dx

= jJ{x+ 2]3 +[x;"§]2 dx
[t is known that, jlﬂu',x! +atdx= %\;"xi +a + ﬂ—z_ log

x+Nxt+a’

+C

2 .
A :{x-; ]-..u'_r2+4x+6+ ilog
2
:Mu‘xz +4x+ 6+ log

2

{x+2}+-,n’_r2+4x+6‘+c
(x+2)+Vx* +4x+6+C

Question 4:

Vil +dx+1

Answer

Let] = ijf+4x+1dx
= J.J(xz +4x+4)—3d\:
_ J\,("'* 2 ~(V3) dx

It is known that, J‘w',:c‘z —atdx = iu'x"z —-a’ —%Elng x+yxt-a*|+C

2

(x+2)

=T A+ —%Iog‘{x+2]+q‘x" +4x+l‘+{;‘

2

Question 5:
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J1—dx—¥*

Answer

Let /= [\1-4x—x dx
- IJI—(::2 +4x+4-4)d
= jmdx
_ J‘\[(,ﬁf_{“zf dx

H 2 1 X 1 T ﬂz R o
It is known that, Iu'a‘ —x"dx = SVa -x +?5|n 'Z+C

o

2 -
R L Y R JEN '[Hz}rc
2 2 J5

Question 6:

Vil +4x-5

Answer
Let] = J‘Jx-’+4.1:—5 dx

- j,’/(x2 +4x+4)-9dx
= [(x+2)"=(3) ax
It is known that, J‘w'x‘z —atdy ="t —-a —%zlﬂg x+x'-a* +C

2

(%)

—w.l'x2+4x—5—glog x+2)+vxt +4x-5/+C
2

2

Question 7:

V143x—x°

Answer

Page 120 of 216



Class XII Chapter 7 - Integrals

Maths

Let ] = ‘[mdx
- J'\/l—[f —3.r+§—§]a{x
A
LRE

. X P 5 ﬂ'z . X
It is known that, c:i—xidx=5x.'a‘—x‘ +75|n 1 Z+C
& o

2 % 2 W13
2
2x-=3 - 4 | - 2x-3
= WMl+3x—x" +—sin - +C
13 )

Question 8:

V't +3x

Answer

Let ] = J\."x3+3xn’x
=j,||x3+31+2—2dx
4 4
S ROk
2 2
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It is known that, jw'x —a'dy= u'x -a’ —?Iﬂg x+yx'—a’ +C

3

9
[H_] 9
= 2 ¢x3+3x—%lng [x+%j+w'xz+3x +C

2
{2x+3}r 9 3 ,f’i
= 4 X +3.‘(—§ll)g x+5 + J-+3x

+C

Question 9:

1+
9

Answer

Let = | 1+J:dx=;j 9+ x* .;iw:;j,;'{3f+f dx

It is known that, Iw..'.x +atdy= 1;"1 +at +—I0g
C
,‘.I=%|i§x.'x3+9+%10g‘x+s.n'x1+9‘:|+ﬂ
=§ x1+9+%log‘x+wjx3+9‘+{:

x4+vx +a ‘+C

Question 10:

I\"rl-l-—tz dx

is equal to
£1».n']+x3 +llugx+\l'|+x: +C
A. 2 2
2 - :
5. 3(1+x‘)3 +C
2 T
. 3x(]+x'}v+C
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%-\‘I' x %" sy + 41+ x° |+ C
D.

Answer

Na® 1 2 Iug

It is known that, _[va +xidx=

x4+vx +a ‘+C

x
2

—5, X 1 —
J-\I'|+IE(£1’=;\.”+IE +Elﬂgx+u'l+xz +C

Hence, the correct Answer is A.

Question 11:

I'u'x: —8x+Tdx
is equal to
%{x—dl}m'xz ~Bx+7+9log

_r—4+1f'xz—3x+?‘+lfl

A.

(e 4V -8+ T +9loglx+ 4+ ¥ —Bx4 T[4 C
B. <

%{.‘c—4)1.‘.‘c:—31'+?—3ﬁ|0g x—4+m'x:—ﬂx+?‘+li‘
C. =

];(x—4}x|'_'c3—3x+?—%]ngx—4+ﬂx3—ﬂx+? +C
D. =
Answer

Let] = J'w.f.r-’—axwdx

= [J(x* ~8x+16)-9.dx
o N e
It is known that, I ¥ —atdx= %«.n’xz -a’ —%zlng x+x' =a’ +C

P G W
P

= 9
Vo —Sx+?—510g

Vx! 8x+?‘+{;‘

Hence, the correct Answer is D.
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